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Directions: Read the following passages, and then choose the best
answer from the four choices marked A, B, C and D.
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Example 1

“

Dr. Trounson has gone one step further than the “test-tube”
fertilization technique, first employed successfully in 1978 and since
emulated in such places as the United States, South Africa, Britain
itself, and Australia, by setting up an “embryo bank” to keep a
supply of frozen fertilized eggs available indefinitely. In case the

first fertilized egg failed to pregnancy when transplanted back into

the mother, or possibly into another woman, another of the stored

eggs which had been taken from the mother and fertilized by the fa-

ther at the same time as the first, could be withdrawn from the

bank for a second attempt.

The pioneers of successful “test-tube” births, Steptoe and Ed-
wards, had been the first to come up with this storage idea, but
they had been forced to withdraw their plan because of the contro-
versy it aroused. The problem in both countries was, of course, one
of morality, although that should not be taken to imply that there is
necessarily more morality in Great Britain than in Australia. The
concern has been that the embryo bank might be exploited by the
unscrupulous, or that conception might precede birth by nine or

even ninety years rather than by nine months. As happened some

years ago with heart transplants, and as will doubtless happen

again, the present situation as far as embryo banks are concerned

appears to be that “the technology has outrun the morality”.

1. The paragraph preceding this extract probably dealt with

A. the intended recipient
B. embryo banks
— 2 J—



C. Dr. Trounson
D. Steptoe and Edwards
2. The passage implies that the first “test-tube” fertilization

A. occurred in the United States

B. took place in Australia

C. was carried out by Dr. Trounson

D. was carried out by Steptoe and Edward

3. It can be inferred from the passage that Dr. Trounson works in

A. Australia
B. South Africa
C. The United States
D. England
4. Which of the following cannot be inferred from the passage ?

A. The intended recipient of a fertilized egg from the embryo
bank is the original producer of the egg.
B. There are at least two types of moral issue associated with
embryo banks.
C. New moral attitudes develop more quickly than new technol-
ogy-
D. There are similarities in the moral dilemmas surrounding
heart transplants and embryo banks.
5. Where did this passage most probably appear?
A. In a specialized periodical for doctors.
B. On the front page of a daily newspaper.
C. In a weekly news magazine with a general readership.

D. In a specialized periodical for moral philosophers.
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Example 2

There are two great mysteries about the beach. One is why
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human beings flock there by thousands, only to prostrate (R ED
themselves in dense packs of glistening flesh. The other is why the
sand goes there. Strange as it seems, oceanographers have never re-
ally understood why sand piles up on the shore. Now Douglas
Inman and Daniel Conley think they have solved the Puzzle.

The puzzle had to do with waves. Though it might seem intu-
itive that waves carry water to shore, and sand along with it, it’s
not that simple. The crest ( JR4< ) of a passing wave lifts a given
bit of water upward and landward, but the ensuing trough ( ¥4 )
pushes the water back down and out to sea. Near the bottom,
where the sand is, the water was always assumed to just slide back
and forth—and the sand with it. “ If you take a very aloof look at a
beach,” says Inman,  you’ll realize that if the two motions move
sand back and forth the same amount, then all the sand should end
up in deep water. ”

So for beaches to exist, the crest’s onshore flow must some-
how move enough sand up the beach to counter the seaward tug of
both the trough and gravity. The pressure changes in the sand bed,
Inman and Conley think, are the key to beach creation. They found
that sand doesn’t just slide back and forth with each passing wave.
Under a trough, it does slide seaward, in a thin layer just above the
bottom. But under a crest its movement is often more elaborate.
The higher pressure under a crest-higher because the water is piled
higher-forces water into the porous (£ fL#J) sand. This creates
strong whirlpools just above the sand, which help loosen it. As the

crest passes overhead, the sand first rushes across the bottom; then

it abruptly turns violent lifting off the bottom in large, boiling

bunches. Finally, just after the crest passes, the sand explodes up
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into the great water column. The boiling and rushing move more

sand than the backsliding under a trough, so there’s a net move-

ment of sand toward the shore.

1. The primary purpose of this passage is to

A.

B.

C.
D.

present a recent research into a puzzle

explain the reason human beings enjoy gathering around the
beach

propose a new explanation of a common phenomenon

refute a misconception

2. The author implies that

A.

D.

people take it for granted that waves carry sand to form the
beach

no one has ever made any effort to solve the puzzle

both Inman and Conley are overconfident of their success in
the work

understanding why the sand is piled helps greatly enjoy the
beach

3. According to Inman and Conley, all of the following are careless

understanding of beach creation except that

A.

B.

C.

D.

a trough pushes the water out to sea

the crest of a passing wave simply carries water upward and

landward

near the bottom of the wave, the water just slides back and

forth
both the trough and the crest moved sand back and forth

4. According to the two scientists, which of the following is not a

step how beach is created?

A.

Water is forced into sand by the high pressure under a crest.
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B. Strong whirlpools make the sand loose.

C. The sand is sent into the air with the huge water column.

D. More sand is pushed back out to the sea.

5. This passage most probably appears in

A. a popular magazine that touches about various social phenom-
ena

B. a scientific journal that mainly introduces the latest develop-
ments of science

C. a popular magazine that entertains the readers with new ideas

E. an introduction to a book specialized in the study of the ocean

A .
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intro- XN, AN
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introflection (intro- [P, flect 5B, -ion BiAGH; MANEHD
sist Y437
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consist (con- 3£, —#8, sist ¥4 3L LAE B>l AR
insist Gin- DR X, sist ¥ L ; RIAB—~BIHEK, B
fus ¥, #, @15
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inscribe (in- A, scribe §; GA L Eth, 4 A&, 215)
postscript (post- 5, script B; B0 K7, B
struct @ik
construct (con- PR X , struct By ; BiF, @)
destruction (de- 3f, #f7, struct B#&, -ion BRER B, B
obstruct (ob- agaist, struct g5 ; IR FREE, HB)
un, uni —, f—
uniform (uni —, form R, X#E; —HM, HEL, SR
unique (un, — -ique JEEF5H; M—, M—FL )
astro, aster 5
astrology (astro &, logy #F%, %; S EA)
astronaut (astro B, naut fy; MFE~FELHR)
asteroid (aster &, oid fBl---f; BIEH, BEXKK)
duc, duct 5| %
abduct (ab- &, %, duct 3|5; 3| =—~iF#H, i
ventiduct (venti X, duct 515 3|5 K 8 i — i K5
ven 3
invervene (inter- Z [&], [, ven 3; RBHEFF/, FiF. A0
prevent (pre- H, 55, ven 3; £3k—Tb5, By1-)
dia B38, X%, ZH 2 H
dialogue (dia =% 2], log &, i#; W5
diathermal (dia B %¢, therm #4, -al AR ; JwdAD
tact i, 1Efd
tactile (Rl 8y, i )
intact (in- FE RIS, tact fill; > SUEUR: D)
tract $if, ], 3]
attract (at- FJR to, tract 3]; B3]
contract (con- 3£fd], —#2, tract ir; EoENE—R-ITY, 232
abstract (abs- BFF, %, H, tract fif, B #hae, Mg, 2B, BWE)
extract (ex- Hi, tract 3, B; M, Kl, W)
auto HiZ, B
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autobiography (auto H &, bio K, graph B, XF, -y A& 1%

automobile (auto B &7, mobile T FHH; HAFE KT

mon-, mono-H.—,

monoxide (—&ALEK)

monarch (mon- , arch BB % %, FE; MRE

sym-, syn-, syl-, sys- 3t fH]

sympathy (sym 3£, pathy #&; F&, R

synchronous (syn 3£, chron Bf[H], -ous EAFAGH; FFHD
contra-, counter- XX},

contraversy (contra ZXt, vers ¥, -y F&; 10
contraclockwise (contra % » -wise N1, HLE; FEE )
counteraction (JZ4E )

micro- £/

microscope (B 5

microorganism (3441

macro- B K

macrochange (KZE )

anti- KX, MR, Bk, $i

antiageing (B F-E/Y)

antibody (Fif)

graph 5, g5

graphics (| E%2)

micrograph (micro- #§, graph 5, H; HWED

oceanographer (MFF¥%K)

hemi- 3

hemisphere (:5K)

hemicycle CGEFTE)

homo- fd]

homothermic (homo [, therm B, -ic EFiFAER; FEHN)
homopolar ([E#&#))

hetero- 7




heteromorphic Chetero %, morph 4k, -ic ERFAIG S ; RICHD
hyper- #i3t, 1%

hypercriticism G4 #L1F)

hyperactive (&) BE#Y)

hypo- F, {&, 4

hypothalamus CF I %)

hypotension (i IfiL FE)

hypothermia (hypo 3345, therm ¥, -ia FEARARR; BT
com-, con-

1. 3L

comtemporary ([&)IHLH)

concolourous ([&]f,#))

2. IR 5] B B X

confirm ({#f¥g )
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commemorate (Z84:)

THT LR ERARRE R, IREERE T ANAI & g

prologue (log &, #i) patricide (patri- & FE ()
persist ( per- B %2¢) infuse (in- A\, B§)
manuscript (manu F) convene

diameter contact (con- JIFRE )
autocriticism monocycle

contradict (dict 35 , {§) macroeconomics

antiwar
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main idea, topic, subject B title %, FTEEENT.

The best title for this passage would be
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Which of the following would be the most appropriate title for
the passage?

The passage is mainly concerned with

The passage deals primarily with

What’s the main topic of the passage?

Which of the following can best sum up the passage?

X REREAY T EREANEEROKE, BRGhE
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4] “The secrets of sleep were a mystery for centuries -++” I B
“Only in the last few years have experts come up with theories *-+”,
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